
11 êëàññ. Âàðèàíòû 12111 � 12114. Îòâåòû

Çàäà÷à 1

Âàð. 1. 115.

Âàð. 2. 220.

Âàð. 3. 12.

Âàð. 4. -2.

Çàäà÷à 2

Âàð. 1. ïðÿìûå x = 0 è y = 0.

Âàð. 2. ïîëóïðÿìàÿ x = 0, y > 0.

Âàð. 3. ïðÿìàÿ x = 0.

Âàð. 4. ïðÿìàÿ y = 0.

Çàäà÷à 3

1 âàð. S = 9
√
2.

3 âàð. S = 4.

2 âàð. AC = 6
√
2.

4 âàð. AC = 10.

Çàäà÷à 4

Âàð. 1. 2−2019.

Âàð. 2. 22019.

Âàð. 3. 21696.

Âàð. 4. 2106.

Çàäà÷à 5

Âàð. 1. â 8 ÷àñîâ óòðà.

Âàð. 2. â 9 ÷àñîâ óòðà.

Âàð. 3. â 8 ÷àñîâ 30 ìèíóò óòðà.

Âàð. 4. â 2 ÷àñà íî÷è (óòðà).
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